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RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EH% [HEGH) JTA/RAC[JAL/JTA 55,500 5% 27,750 52% 35,500 39%
RRECHA) =R\ [EFECRR) |+ (HBH) JAL/JTA| JTA 59,300 7% 29,650 54% 37,950 41%
AEHE [HEGER) JTA [JAL/JTA 59,300 7% 29,650 54% 37,950 41%
KB (7} =% @31 | KRk () [ R= CRA) JAL JAL 43,500 32% 21,750 66% 27,850 56%
HLIE (i T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
i FE | RECHEH) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LIR (B F i) JAL JAL 43,500 31% 21,750 65% 27,850 56%
Kb (BEFE) =23 Al | KBR (B F8) 5| #Li% (31 F %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
S hE A LAt ) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KR (FFH =8I [ KBr (B FH % | 3R CHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
B  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
Khx (BE7E) =#BJIl | KBx (BE7E) % | 3R CHH) JAL JAL 40,900 34% 20,450 67% 26,200 58%
B  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
KR (FFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
fiER  [HECHH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KR (FH) =5 [ KB (R F) %[ 3R CHEH) JAL JAL 40,900 33% 20,450 66% 26,200 57%
HEE [ERE(CHHE) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 41,300 23% 20,650 62% 26,450 51%
BHEER [HECHH) JAL JAL 41,300 23% 20,650 62% 26,450 51%
KR (FH ==iR [ KB (f#F) %[ 3R CHEH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
ZR% [HECHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR (BEE) ==:R | KB (B87E) % |3 CHEH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
ZR% [HECHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR () =02k [ KBk (R % ] JAC JAC 20,500 35% 10,250 67% 13,100 58%
ETES 3 JAC JAC 20,500 35% 10,250 67% 13,100 58%
KB (D) =BF8|XR(FHF| ER JAC JAC 32,600 17% 16,300 59% 20,850 47%
BYEHR BRE JAC JAC 32,600 17% 16,300 59% 20,850 47%
KR (BFH == [ KB (fRFH) F[ 048 (BBIE;) JAL _[JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EOX [HEGH) JTA/RAC| JAL 43,000 17% 21,500 58% 27,500 47%
KR (BEE) == [ KB (BEdE) F| P48 (BBIR) JAL/JTA|JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EH% [HEGH) JTA/RAC[JAL/JTA 43,000 17% 21,500 58% 27,500 47%
KR (FH =FR1E [ KB (RFH) F| 048 (BT JAL JTA 48,400 15% 24,200 58% 31,000 46%
AEHE [HEGER JTA JAL 48,400 15% 24,200 58% 31,000 46%
KR (BEE) =FR1E | KBx (REFE) 5| P48 (BBIR) JAL/JTA| JTA 48,400 15% 24,200 58% 31,000 46%
AEH  [HEER JTA [JAL/JTA 48,400 15% 24,200 58% 31,000 46%
LR (hE) =% 8| & EE (P &) F[4LIE T %) JAL JAL 39,800 32% 19,900 66% 25,450 57%
ZEAFE R EFTR JAL JAL 39,800 32% 19,900 66% 25,450 57%
AHE(FEH) ==& |£25E (h) £ G5 JTA _[JTA/RAC 44,000 22% 22,000 61% 28,150 50%
EH% [HEGH) JTA/RAC| JTA 44,000 22% 22,000 61% 28,150 50%
AT E (FE) =RiE[25E () 2[4 G5 JTA JTA 53,000 14% 26,500 57% 33,900 45%
AiEH [HEGER JTA JTA 53,000 14% 26,500 57% 33,900 45%
IR BT %) =/MA[ALIR i Fa) [ HE CRE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
AR [FEECHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
LI G T %) = Rel L1 [4LI% (T ) | R CHH) JAL JAL 35,000 45% 17,500 72% 22,400 65%
FELFE  [HECRA) JAL JAL 35,000 45% 17,500 72% 22,400 65%
IR EF%) =L 8 AR @ T % /R CHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
LEB% [FECHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
LI (B F %) = IO 8| #LIR (BT %) %[ R CRH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
WOFERFE [HECHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
LR BT %) =HE R @ T %[ HR CHH) JAL JAL 37,400 42% 18,700 71% 23,950 63%
HEH [RRCRA) JAL JAL 37,400 42% 18,700 71% 23,950 63%
IR Er T %) =B AR @ T 2| HE (CHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
mEH [FECHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
IR BT %) == [ALIR #FFa) 2| HR CHE) JAL JAL 39,900 37% 19,950 68% 25,550 59%
=% [FECHH) JAL JAL 39,900 37% 19,950 68% 25,550 59%
IR (BT ) == & [ALIR G F#) % =R CREA) JAL JAL 41,400 36% 20,700 68% 26,500 59%
=A% [FECHH) JAL JAL 41,400 36% 20,700 68% 26,500 59%
IR (BT %) =L [ALIR G F#) | R CREA) JAL JAL 43,700 33% 21,850 67% 27,950 57%
WL [HERCHEH) JAL JAL 43,700 33% 21,850 67% 27,950 57%
ALIR (BT 5%) =L AU [ALIR B F#%) 5| S CRIEA) JAL JAL 42,000 40% 21,000 70% 26,900 62%
AMFE |[RZECHEH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
LR BT %) = K5 [4LIR F T 2| HR CHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
AH%  [FECHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
IR BT %) =R [4LIR T 2| HR CHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
5 R (CHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
LR GBI T %) = REAR [4LIR (T 2| R CHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
A% [HFECHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
IR BT %) = =6 [4LIR (T 2| RR CHH) JAL JAL 44,000 37% 22,000 69% 28,150 60%
ER%E [RRCRA) JAL JAL 44,000 37% 22,000 69% 28,150 60%
AR FFR) =ERS[ ARG TR | RRCRA) JAL JAL 49,000 32% 24,500 66% 31,350 57%
BRE% |RFE(HH) JAL JAL 49,000 32% 24,500 66% 31,350 57%
AL BT 2% = GBI | ALIR (B F %) %[ R R (PIE) JAL _[JAL/JTA 51,200 31% 25,600 66% 32,750 56%
KB (BFE) JAL [JAL/JTA 51,200 32% 25,600 66% 32,750 57%
£EHE (PEH) JAL JTA 51,200 33% 25,600 66% 32,750 57%
128 JAL JTA 51,200 35% 25,600 67% 32,750 58%
HE (B! F|RE (HH) JAL/JTA] JAL 51,200 31% 25,600 66% 32,750 56%
KB (BFE) JAL/JTA| JAL 51,200 32% 25,600 66% 32,750 57%
£EHE (PEH) JTA JAL 51,200 33% 25,600 66% 32,750 57%
128 JTA JAL 51,200 35% 25,600 67% 32,750 58%
12 =% 3l [EEEINEVACRT:) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (i T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
SN EGACRED) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (i T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
2=l BE% [FECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
BII%  [FECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
1= =2 BE% [FECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
SipEs  [HECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
'l =%k BE% [FECHH) JAL JAL 52,100 31% 26,050 65% 33,350 56%
HHERE  [FECHHE) JAL JAL 52,100 31% 26,050 65% 33,350 56%
12 =BKeE BE% [FECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HEER [RECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
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ER=F% BER [FECHH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
AR (EFH JAL JAL 43,900 25% 21,950 63% 28,100 52%
B S ESACED) JAL JAL 43,900 34% 21,950 67% 28,100 58%
KR (EFH JAL JAL 43,900 25% 21,950 63% 28,100 52%
B ==iR BE% [FECHH) JAL JAL 43,400 34% 21,700 67% 27,800 58%
ZR% [HECHH) JAL JAL 43,400 34% 21,700 67% 27,800 58%
EE=1t5 [ e I PN A=) JAL JAL 42,400 26% 21,200 63% 27,150 52%
&R [ KRURFD JAL JAL 42,400 26% 21,200 63% 27,150 52%
BE=8[A RBER [FEECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
KR (EFH JAL JAL 42,300 23% 21,150 61% 27,050 51%
AR [HECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
KR (EFH JAL JAL 42,300 23% 21,150 61% 27,050 51%
2 =L RBER [FEECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 28% 19,500 64% 24,950 54%
W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (FEFH JAL JAL 39,000 28% 19,500 64% 24,950 54%
=R =" £ [ KERURFD JAL JAL 37,000 27% 18,500 64% 23,700 53%
mE | KR(EFD JAL JAL 37,000 27% 18,500 64% 23,700 53%
2=/ £ [EHEFECRMA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
£ [EHEFECRHA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
wER==4 £ 3B JTA [JTA/RAC 38,000 16% 19,000 58% 24,300 46%
AE 1)) JTA/RAC| JTA 38,000 16% 19,000 58% 24,300 46%
BE=FH1E £ 4B (ARER) JTA JTA 38,700 23% 19,350 62% 24,750 51%
B [ RE) JTA JTA 38,700 23% 19,350 62% 24,750 51%
Es A * [ARETFR) JAL JAL 30,500 39% 15,250 69% 19,500 61%
i LIR (B F i) JAL JAL 30,500 39% 15,250 69% 19,500 61%
Es e ] * [AREGTFR) JAL JAL 32,000 37% 16,000 69% 20,500 60%
e LIR (B F i) JAL JAL 32,000 37% 16,000 69% 20,500 60%
i A =M % |ERECHHA) JAL JAL 41,200 35% 20,600 67% 26,350 58%
% | RECHH) JAL JAL 41,200 35% 20,600 67% 26,350 58%
23 Al = RE Ll % |ERECHHA) JAL JAL 45,000 37% 22,500 68% 28,800 60%
% |EECRA) JAL JAL 45,000 37% 22,500 68% 28,800 60%
LimAl=HE % |ERECHHA) JAL JAL 43,500 40% 21,750 70% 27,850 62%
EX |[ERCRHA) JAL JAL 43,500 40% 21,750 70% 27,850 62%
i A =Hl R (CHH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
£ [EHEFECRMA) JAL JAL 49,500 32% 24,750 66% 31,700 57%
JETTETR A £ |RECHH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
£ [EHEFECRMA) JAL JAL 39,600 36% 19,800 68% 25,350 59%
TBI=ML £ |RECHH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
£ |RECHH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
BII=HE £ |RECHH) JAL JAL 42,500 40% 21,250 70% 27,200 62%
£ [EHFECRMA) JAL JAL 42,500 40% 21,250 70% 27,200 62%
JENI=#21L £ |RECHH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
£ [EHEFECRMA) JAL JAL 49,500 31% 24,750 65% 31,700 56%
SIBE =2 £ |RECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
£ |RECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
£IB% =1L A E EAEREED) JAL JAL 45,000 35% 22,500 67% 28,800 58%
£ |RECHH) JAL JAL 45,000 35% 22,500 67% 28,800 58%
SR =HE £ |HE(EH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
£ [EHFECRMA) JAL JAL 43,500 38% 21,750 69% 27,850 60%
gipg =421 £ [EHEFECRMA) JAL JAL 49,500 30% 24,750 65% 31,700 55%
£ [EHFECRMA) JAL JAL 49,500 30% 24,750 65% 31,700 55%
HIE=/M2 £ [EHEFECRMA) JAL JAL 39,600 34% 19,800 67% 25,350 58%
£ [EHFECRA) JAL JAL 39,600 34% 19,800 67% 25,350 58%
HIE=MRL £ |HE(EH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
£ |RECHH) JAL JAL 45,000 34% 22,500 67% 28,800 58%
HL=HE A EFIEED) JAL JAL 42,500 39% 21,250 70% 27,200 61%
£ [EHEFECRMA) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HIL=H10 £ [EHEFECRA) JAL JAL 49,500 30% 24,750 65% 31,700 55%
£ [EHEFECRA) JAL JAL 49,500 30% 24,750 65% 31,700 55%
EREE =/ £ [EHEFECRMA) JAL JAL 34,100 36% 17,050 68% 21,800 59%
£ |RECHEH) JAL JAL 34,100 36% 17,050 68% 21,800 59%
R =Ll A E EAERED) JAL JAL 44,000 28% 22,000 64% 28,150 54%
£ |RECHH) JAL JAL 44,000 28% 22,000 64% 28,150 54%
HEE=HE A E EAERED) JAL JAL 42,500 32% 21,250 66% 27,200 57%
£ [EHEFECRA) JAL JAL 42,500 32% 21,250 66% 27,200 57%
BEEE=#10 £ [EHEFECRMA) JAL JAL 48,400 24% 24,200 62% 31,000 51%
£ |RECHH) JAL JAL 48,400 24% 24,200 62% 31,000 51%
BEEE=dL M £ [EHEFECRMA) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HR CHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HEE=X% A E EAERED) JAL JAL 40,500 40% 20,250 70% 25,900 61%
£ [EHFECRA) JAL JAL 40,500 40% 20,250 70% 25,900 61%
HEE=RIE A E EAERED) JAL JAL 42,000 40% 21,000 70% 26,900 62%
£ |RECHH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
BEE=FEA A E EAERED) JAL JAL 42,000 38% 21,000 69% 26,900 60%
£ |RECHH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=25 A E EAERED) JAL JAL 42,000 38% 21,000 69% 26,900 60%
£ |RECHH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=ERS BHEER [HECHHE) JAL JAL 43,000 39% 21,500 69% 27,500 61%
EBRE HR CHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
BEH=/M EH%E  [ER(EH) JAL JAL 32,000 38% 16,000 69% 20,500 61%
AR [FECHE) JAL JAL 32,000 38% 16,000 69% 20,500 61%
EH=RLL BEHA%  [HAECHHE) JAL JAL 36,000 40% 18,000 70% 23,050 62%
FELFE  [HECRA) JAL JAL 36,000 40% 18,000 70% 23,050 62%
EH=LE EHA%  [FECHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
LEB% [FECHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
HFEH=ILOFE EH%E [ER(EH) JAL JAL 39,000 40% 19,500 70% 24,950 61%
WOFEF [HECHE) JAL JAL 39,000 40% 19,500 70% 24,950 61%
EH=HE B =R CRE) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAL JAC 36,800 34% 18,400 67% 23,550 58%
HEH [ERRCRA) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAC JAL 36,800 34% 18,400 67% 23,550 58%
EH=HE5 EHA%  [FECHH) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EE%E [HER(CHHE) JAL JAL 34,000 43% 17,000 71% 21,750 64%
FH=2 EH%E  [ER(EH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
aR%  [EEREH JAL JAL 36,000 40% 18,000 70% 23,050 61%
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=24 BEHA%  [FECHHE) JAL JAL 37,000 40% 18,500 70% 23,700 61%
=A% [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
BEH=L EH%E  [ER(HEH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
Wl  [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
BFEHER=JdAM EH%E  [ER(EH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
EAME |RFECHH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
EH=K» B L ESACED) JAL JAL 39,000 41% 19,500 70% 24,950 62%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
X% [HECHH) JAL JAL 39,000 41% 19,500 70% 24,950 62%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
EH=RB B T ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAL 42,000 33% 21,000 66% 26,900 57%
RE% [HECHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAL 42,000 33% 21,000 66% 26,900 57%
EH=EX B ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
AR [HECHH) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
=24 B ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
AR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
BEFE [RRECRA) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
EH=ERS B ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAC 42,000 34% 21,000 67% 26,900 58%
BREXE |[RE(HH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAC JAL 42,000 34% 21,000 67% 26,900 58%
ZIR=/ £ |RECHH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
£ |RECHH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
=iR=EW £ |RECHEH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
£ |RE(HEH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
ZR=IE% £ |RECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
£ |RECHEH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
ZR=WOFE £ |RECHH) JAL JAL 39,000 39% 19,500 70% 24,950 61%
% |HECRA) JAL JAL 39,000 39% 19,500 70% 24,950 61%
ZR=HE £ [EHEFECRMA) JAL JAL 37,900 38% 18,950 69% 24,250 60%
£ [EHEFECRMA) JAL JAL 37,900 38% 18,950 69% 24,250 60%
ZR=#5 £ [EFECHA) JAL JAL 34,000 42% 17,000 71% 21,750 63%
£ |RECHH) JAL JAL 34,000 42% 17,000 71% 21,750 63%
ZiR=@1 £ [EHEFECPMA) JAL JAL 36,000 39% 18,000 69% 23,050 61%
£ |RECHH) JAL JAL 36,000 39% 18,000 69% 23,050 61%
ZiR==4H £ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
=A% [FECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
ZiR=#1 ZiR%  [HECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
WL [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
ZIR=4hM ZiR%  [HECHH) JAL JAL 43,400 34% 21,700 67% 27,800 58%
FR CHHE) JAL JAL 43,400 34% 21,700 67% 27,800 58%
ZIR=X% £ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
£ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
ZiR=R& £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
£ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
ZIR=RX £ |RECHH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRMA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZiR=E& £ |RECHEH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRMA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZR=ERS ZR% [HECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
BRE FR CHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
FE=/ PEE [FRRERCEH JAL JAL 30,900 34% 15,450 67% 19,800 57%
IR E S-ACEL:)) JAL JAL 30,900 34% 15,450 67% 19,800 57%
FYE =L PEE [FRER(CEH JAL JAL 32,000 41% 16,000 71% 20,500 63%
FELFE  [ERECRA) JAL JAL 32,000 41% 16,000 71% 20,500 63%
MHE=L5 PEE [HRERCHEH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
LEB% [FECHH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
#EA=LAFE PEEX [FRERCEH) JAL JAL 37,000 38% 18,500 69% 23,700 60%
WOFEFE [ R CHE) JAL JAL 37,000 38% 18,500 69% 23,700 60%
MHE=HE AR [HECHH) JAL JAL 33,100 41% 16,550 70% 20,500 63%
KR (EFH JAL JAC 33,100 37% 16,550 68% 20,500 61%
HEH [ERCRA) JAL JAL 33,100 41% 16,550 70% 20,500 63%
AR (EFH JAC JAL 33,100 37% 16,550 68% 20,500 61%
MHE=ES TR [EECHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
mE%E [HER(CHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
MHA=E1 PEE [ERER(CEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
2% [HERCHEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
MEA=2% BEE [FRRER(CEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
2% [HERCHEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
FE=#L BEE [FRERCEH) JAL JAL 36,000 36% 18,000 68% 23,050 59%
Wl [FECHHE) JAL JAL 36,000 36% 18,000 68% 23,050 59%
FE=dL M PEE [FRRER(CEH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
LAME |RZECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
ME=X% MEFEX [REREH JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (EFH JAL JAL 37,000 29% 18,500 65% 23,700 55%
X% [HECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (EFH JAL JAL 37,000 29% 18,500 65% 23,700 55%
MEH=RI& AR [HECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (FFH JAL JAL 39,000 34% 19,500 67% 24,950 57%
RE% [HECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (EFH JAL JAL 39,000 34% 19,500 67% 24,950 57%
FHE=REX AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
A% [HAECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KRR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
MEH==I& AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
BEFE [RRECRA) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
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ME=FERS HEE [ERCEH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAL JAC 40,500 32% 20,250 66% 25,900 57%
EREH [HECHH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAC JAL 40,500 32% 20,250 66% 25,900 57%
Wz =/hi Wiz %  |[RECRA) JAL JAL 29,600 26% 14,800 63% 18,950 53%
MM [RHECHH) JAL JAL 29,600 26% 14,800 63% 18,950 53%
IRz =R W% [RECRA) JAL JAL 32,000 34% 16,000 67% 20,500 58%
FELFE [RECRA) JAL JAL 32,000 34% 16,000 67% 20,500 58%
W =55 W% |[RECRA) JAL JAL 33,000 33% 16,500 66% 21,100 57%
LEB% [FECHH) JAL JAL 33,000 33% 16,500 66% 21,100 57%
Wiz =110 54 iR % |[RECRA) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WOFERF [HECHE) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WR=H=E W% [RRECRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
AR (EFH JAL JAC 33,000 35% 16,500 68% 21,100 59%
EX |[RRCRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
KR (EFH JAC JAL 33,000 35% 16,500 68% 21,100 59%
=% W% |[RECRA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
mEH [FECHH) JAL JAL 32,000 33% 16,000 66% 20,500 57%
iR =mn W% [EFECRA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
2% [HERCHEH) JAL JAL 32,000 33% 16,000 66% 20,500 57%
R =m=% W% |[RECRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
=A% [FECHH) JAL JAL 33,000 33% 16,500 67% 21,100 57%
Wiz =#xl W% |[RECRA) JAL JAL 33,000 34% 16,500 67% 21,100 58%
WL [FECHH) JAL JAL 33,000 34% 16,500 67% 21,100 58%
Wiz =4t A AME |RFECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
wk=X% W% [RRECRA) JAL JAL 38,000 29% 19,000 65% 24,300 55%
AR (EFH JAL JAL 38,000 26% 19,000 63% 24,300 53%
X% [HECHH) JAL JAL 38,000 29% 19,000 65% 24,300 55%
AR (EFH JAL JAL 38,000 26% 19,000 63% 24,300 53%
W =Ki& W% [RRECRA) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAL JAL 41,000 29% 20,500 64% 26,250 54%
RE% [HECHH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
AR (EFH JAL JAL 41,000 29% 20,500 64% 26,250 54%
Wz =HEK W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
A% [HAECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
W =gEi& W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
R ESACETE)) JAL JAL 39,000 29% 19,500 64% 24,950 55%
AR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
W =ERSE W% [RRECRA) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAL JAC 41,000 30% 20,500 65% 26,250 55%
EREH [HECHH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAC JAL 41,000 30% 20,500 65% 26,250 55%
e =H=E mEFE [ XREREEFD JAL JAC 32,000 36% 16,000 68% 20,500 59%
HEHX [ KREEF JAC JAL 32,000 36% 16,000 68% 20,500 59%
e =X &R [ XREREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
KoFE | KREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
e =RKix &R [ XREREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
RIBFE [ XREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
s =HReAR &R [ XREREEFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
REARE [ KR(EEFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
& ==& mEFE [ XREREEFD JAL JAL 39,000 28% 19,500 64% 24,950 54%
=g [ KR(EF JAL JAL 39,000 28% 19,500 64% 24,950 54%
me=ERrRs &R [ KEREEFD JAL JAC 39,000 32% 19,500 66% 24,950 57%
KRR (EFH JAC JAL 39,000 32% 19,500 66% 24,950 57%
FR=HE £ |RBR(FFD JAL JAC 29,000 40% 14,500 70% 18,550 62%
£ [ KBR(FD JAC JAL 29,000 40% 14,500 70% 18,550 62%
FR=K £ |RBR(FFD JAL JAL 34,000 30% 17,000 65% 21,750 55%
£ [ KBR(FD JAL JAL 34,000 30% 17,000 65% 21,750 55%
FR=RIK £ |RBR(FFD JAL JAL 37,000 32% 18,500 66% 23,700 57%
£ [ KBR(FD JAL JAL 37,000 32% 18,500 66% 23,700 57%
FR=EEX £ |RBR(FFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
£ [ KBR(FD JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=E4 £ |XBR(FFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
£ [ KBR(FD JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=ERS £ [ KERURFD JAL JAC 37,000 34% 18,500 67% 23,700 58%
KR (FFH JAC JAL 37,000 34% 18,500 67% 23,700 58%
M= IMAFE [RHECHH) JAL JAL 30,200 42% 15,100 71% 19,350 63%
FELFE [EHECRA) JAL JAL 30,200 42% 15,100 71% 19,350 63%
IMA=TRE MM [FHRECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
LEE% [FECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
IMA=LAFER MR [FRECHE) JAL JAL 34,700 39% 17,350 69% 22,200 61%
WOFERF |HECHE) JAL JAL 34,700 39% 17,350 69% 22,200 61%
IMNR=HE IR E S-1€EL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
HEH [RRCRA) JAL JAL 31,500 41% 15,750 70% 20,150 62%
INR=TES N7 E GACET:)) JAL JAL 29,500 43% 14,750 71% 18,900 63%
EEH |[FECHH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
INR=F MM [HRECHH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
2% [HRERCHEH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
INR=TE4 IR E S-ACEL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
2% [HERCHEH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
MEY=HALL AR [HEECHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
WL  [FECHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
Y=L M [FHRECHE) JAL JAL 36,800 37% 18,400 69% 23,550 60%
e R (CHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
M=K MY [FHRECHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
A% [FECHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
MNR=RIE IR E S-A€EL:)) JAL JAL 39,000 36% 19,500 68% 24,950 59%
RB% [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
INR=FER M [FHECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
REA% [HECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IMNEY="H I IR E S-ACEL:)) JAL JAL 36,800 37% 18,400 69% 23,550 60%
BEFE [ERCRA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
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IMA=ERE AR [FRECHE) JAL JAL 39,000 36% 19,500 68% 24,950 59%
ERE FUR CHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMA=FTH RS [ (RER) JTA [JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EhHE [FEGR JTA/RAC| JTA 55,500 5% 27,750 52% 35,500 39%
IMAY=F1E MAFE B (FRER) JTA JTA 59,300 7% 29,650 54% 37,950 41%
AEHE [HEGER JTA JTA 59,300 7% 29,650 54% 37,950 41%
==& EE €T JTA [JTA/RAC 43,000 17% 21,500 58% 27,500 47%
BEH% [EGH) JTA/RAC|  JTA 43,000 17% 21,500 58% 27,500 47%
[EITEE=E] ENE I ET 16 ) JTA JTA 48,400 15% 24,200 58% 31,000 46%
AEHE [HEGER JTA JTA 48,400 15% 24,200 58% 31,000 46%
EH==5 = 2 JAL/JAC| JAC 27,700 36% 13,850 68% 17,750 59%
=5 12E JAC [JAL/JAC 27,700 36% 13,850 68% 17,750 59%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
FXa Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRE| EEXEH Ea JAC JAC 16,800 43% 8,400 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,400 72% 12,650 57%
BN =F & R4 (BRER) H | 3R CHHE) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
EHA%  [FECHHE) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SRR (INER) ==IR 48 (BRER) % | 3R CHH) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
ZR% [HECHH) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPHB(GINER) =FAE [h4E (BRER) F | 3R CHEH) JAL/JTA] JAL 45,000 31% 22,500 66% 28,800 56%
AR [FECHH) JAL _[JAL/JTA 45,000 31% 22,500 66% 28,800 56%
SPHB(INER) = LT [ih48 (ARER) 5| 3R CHE) JAL/JTA] JAL 45,000 24% 22,500 62% 28,800 51%
W% |[RRCRA) JAL _[JAL/JTA 45,000 24% 22,500 62% 28,800 51%
BT =Ile MEGRE |  ERE JTA JAL 45,200 36% 22,600 68% 28,950 59%
=3 128 JAL JTA 45,200 36% 22,600 68% 28,950 59%
SPAB(GIRER) =/ SR 48 (ARER) | 3R CHE) JAL/JTA] JAL 40,900 35% 20,450 67% 26,200 58%
AR [HE CHE) JAL _[JAL/JTA 40,900 35% 20,450 67% 26,200 58%
HEAH =aH FE@XB R & JTA [JAL/JAC 31,500 38% 15,750 69% 20,150 61%
=] & JAL/JAC| JTA 31,500 38% 15,750 69% 20,150 61%
ShEE(RER) =L [(MEGBRIX] & JTA JAC 27,900 42% 13,950 71% 17,850 63%
FALLFE 12 JAC JTA 27,900 42% 13,950 71% 17,850 63%
RRCAR) =EZAB|RR (P E| ERE JAL JAC 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
EBEXER | ERS JAC JAL 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
ER(CABE)=ERB[ZEm(FAE)%] ERSE JAL JAC 43,950 30% 22,000 65% 28,150 55%
BELE JAL JAC 43,950 21% 22,000 61% 28,100 50%
ERER ERE JAC JAL 43,950 30% 22,000 65% 28,150 55%
BEAE JAC JAL 43,950 21% 22,000 61% 28,100 50%
ER(CABR) =#zB[ZR(FHE) %] ERS JAL JAC 45,050 31% 22,550 66% 28,850 56%
BEAE JAL JAC 45,900 23% 22,950 61% 29,400 51%
[FAEES ERS JAC JAL 45,050 31% 22,550 66% 28,850 56%
BEAE JAC JAL 45,900 23% 22,950 61% 29,400 51%
HRHE) =k RH|ERCIA) | ERS JAL JAC 46,950 31% 23,500 66% 30,050 56%
HKBREHHE | BERE JAC JAL 46,950 31% 23,500 66% 30,050 56%
BEAE JAC JAL 46,950 25% 23,500 63% 30,050 52%
i BEKXE [ JAC JAC JAL | 46,950 38% 23,500 69% 30,050 60%
RROPE)=5# AR (PR %] ERS JAL JAC 47,350 32% 23,700 66% 30,300 57%
5w ERS JAC JAL 47,350 32% 23,700 66% 30,300 57%
BEAE JAC JAL 47,300 28% 23,650 64% 30,250 54%
ShKBER | BEKAE [ JAC JAC JAL | 47,300 35% 23,650 68% 30,250 59%
KR (D) =BEAB[ AR (B E| ERS JAC JAC 38,550 23% 19,300 61% 24,700 51%
BEAEHR | BERE JAC JAC 38,550 23% 19,300 61% 24,700 51%
KB (D =ERE| KR (FHFE| _ERS JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAL JAC 39,000 15% 19,550 57% 24,950 45%
ERER BRE JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAC JAL 39,000 15% 19,550 57% 24,950 45%
KR (B =EZ2B|XKR(FM %] ERS JAC JAC 40,100 25% 20,050 63% 25,700 52%
BEAE JAL JAC 41,000 17% 20,500 59% 26,250 47%
[FFAEES BRE JAC JAC 40,100 25% 20,050 63% 25,700 52%
BELE JAC JAL 41,000 17% 20,500 59% 26,250 47%
KR () =hk RE | KBR R H| ER JAC JAC 41,650 26% 20,850 63% 26,700 53%
hKBEHE | BERE JAC JAC 41,650 26% 20,850 63% 26,700 53%
KRB =5# [KR(BEFH%] ERS JAC JAC 42,050 27% 21,050 64% 26,950 53%
S5 = JAC JAC 42,050 27% 21,050 64% 26,950 53%
BE=EXXE B BERS JAC JAC 30,800 26% 15,400 63% 19,700 53%
BEAEHR | BERE JAC JAC 30,800 26% 15,400 63% 19,700 53%
ER=ER5 [EEES ERE JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEAE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ERER ERS JAC JAC 32,250 25% 16,150 62% 20,600 52%
BELE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ER=z5 [EEES ERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 29% 16,200 64% 20,700 54%
[EFAEES ERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BE=4KBE B BERE JAC JAC 33,900 30% 16,950 65% 21,700 55%
HKBRER | ERS JAC JAC 33,900 30% 16,950 65% 21,700 55%
BEAE JAC JAC 33,900 31% 16,950 65% 21,700 56%
i BEKXE [ JAC JAC JAC | 33,900 45% 16,950 73% 21,700 65%
EE=5#H [ERES ERE JAC JAC 34,300 31% 17,150 65% 21,950 56%
EX-t3 ERE JAC JAC 34,300 31% 17,150 65% 21,950 56%
BEAE JAC JAC 34,300 34% 17,150 67% 21,950 58%
HKBRER | BEKX JAC JAC JAC 34,300 42% 17,150 71% 21,950 63%
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RERCPA) =24 [EECHA)F|H#E (BBI) [JAL/JTA[JTA/RAC| 36,000 38%
Ea%  [F#E G | JTA/RAC[JAL/JTA[ 36,000 38%
RECHA) =R\ [EFECHR)F|H4#8 FBH) [JAL/JTA] JTA 36,300 43%
AiEH  [FE@RE| JTA [JAL/JTA[ 36,300 43%
KB (7 =% @31 | KB (D) & [RE CRE) | JAL JAL 34,800 45%
AR F TR JAL JAL 34,800 44%
iR |[RECHE)| JAL JAL 34,800 45%
LIRFHFm)| JAL JAL 34,800 44%
KB (BETE) =2 im Bl | KMk (B PE) F | #LIR FiFm)| JAL JAL 34,800 44%
HmARE [ARETE)| JAL JAL 34,800 44%
KR (FFH =8I [ KBr (BFH % JAL JAL 32,700 47%
JB I3 JAL JAL 32,700 47%
KBx (BE7E) =fBJIl | KBx (BE7E) F JAL JAL 32,700 47%
JEIE: JAL JAL 32,700 47%
KR (R FH) =8IE% [ KXBx (R FH) % JAL JAL 33,700 45%
SRR JAL JAL 33,700 45%
KR (BFH =5 [ KBR (RFH) % JAL JAL 32,700 46%
HILFE JAL JAL 32,700 46%
KR () =xgE [ KRR (B FH # JAL JAL 32,400 40%
BREESE JAL JAL 32,400 40%
KR (FFH ==iR [ KB (BFH F JAL JAL 30,200 42%
=R% JAL JAL 30,200 42%
KB (B87E) ==iR | KRR (BSFE) 5| 3R JAL JAL 30,200 42%
ZR¥ |®E (231 H)| JAL JAL 30,200 42%
KR (BFH) =ik [(KBR(FEFHH| HE JAC JAC 19,500 38%
[EEa HE JAC JAC 19,500 38%
KB () =BFE|XREFHDFE| ERS JAC JAC 31,000 21%
BrE% BERE JAC JAC 31,000 21%
KR (BFH == [ KB (RFH) S48 (BT | JAL [JTA/RAC| 34400 33%
B [P GRE) |[JTA/RAC]  JAL 34,400 33%
KR (BEE) == | KBx (BE7E) 5| P48 (BBFR) [JAL/JTA[JTA/RAC| 34,400 33%
Ea%  [F#E G0 | JTA/RACIJAL/JTA[ 34,400 33%
KR (RFH =F1E [ KB (REFD 5[ R4 GRE)|  JAL JTA 36,100 37%
AIEH  [FEGRE)| JTA JAL 36,100 37%
KR (BA7E) =F1E | KBx (BE7FE) F |44 (BBE) [JAL/JTA] JTA 36,100 37%
fiE SPE8(BRE [ JTA [JAL/JTA[ 36,100 37%
ZEE (hE) =kBH | BHE (D) R[FEFFR)|  JAL JAL 31,900 46%
ZEAISE |HEGHTR)| JAL JAL 31,900 46%
L2EE(PE) =2h|£aBChE) & AT | JTA [JTA/RAC| 34,200 39%
B |P#GRH) |[JTA/RAC]  JTA 34,200 39%
AHE(FH) =RiE[25E M R PR FH) [ JIJTA JTA 36,200 41%
AiEH  [HEGRE)| JTA JTA 36,200 41%
IR T %) =/MA[ALIR FFa) R[ERCRE) [ JAL JAL 25,800 53%
AR [RECHE)| JAL JAL 25,800 53%
FLOR G T %) = Rel L [ 4LIR (B F i) ¢ P JAL JAL 31,300 51%
[EIES JAL JAL 31,300 51%
IR F%) = LB IR EF TR % JAL JAL 32,100 50%
NEES JAL JAL 32,100 50%
FUIR (BT F#%) = L O & 4L B T %) % JAL JAL 33,600 51%
I=ETE JAL JAL 33,600 51%
IR G Fi%) —HELREFE TR H JAL JAL 30,000 54%
HES JAL JAL 30,000 54%
HIRFHTR) =B ARG TR R JAL JAL 31,200 50%
B JAL JAL 31,200 50%
IR BT %) == # [4LIR T % JAL JAL 32,000 49%
BN i JAL JAL 32,000 49%
IR TR == 5[ ARG TR % :ﬁa(l:laa) JAL JAL 33,200 49%
SHI% [EFECHHE)|[ JAL JAL 33,200 49%
IR (FFm) =L ARG FH) [ RECRE) [ JAL JAL 35,000 46%
W% [RECHHE)| JAL JAL 35,000 46%
ALIR (B F %) =db [ #LIR (B F %) [ /R JAL JAL 33,600 52%
E[&RLE: JAL JAL 33,600 52%
IR FF%) = K5 AR FH T % JAL JAL 33,600 51%
K% JAL JAL 33,600 51%
IR BT %) =RIG [4LIR F T % JAL JAL 35,200 51%
RiEs JAL JAL 35,200 51%
IR BT %) = REAR[4LIR T 3 JAL JAL 34,400 51%
REAS JAL JAL 34,400 51%
IR BT %) = =l [4LIR T 3 JAL JAL 35,200 50%
I 5 JAL JAL 35,200 50%
ARFTFR) =ERE[ARFTFHR JAL JAL 39,200 46%
BREH 2‘ JAL JAL 39,200 46%
R TR =R G | IR (T B B ()| JAL [JAL/JTA 41,000 45%
ABR(BE7E)| JAL [JAL/JTA[ 41,000 46%
ZHE(PED)]  JAL JTA 41,000 46%
128 JAL JTA 41,000 48%
4R (AR [ mE CBE) [JAL/JTA]  JAL 41,000 45%
KBx (B78) |JAL/JTA]  JAL 41,000 46%
£HE (P JTA JAL 41,000 46%
128 JTA JAL 41,000 48%
12 =% 3l BEH [EEGEH)| JAL JAL 39,800 49%
HIEF TR JAL JAL 39,800 45%
i |[RECHE)| JAL JAL 39,800 49%
AR F TR JAL JAL 39,800 45%
2=l BE% [EECHE)| JAL JAL 35,700 53%
BIFE [FRERCHH)| JAL JAL 35,700 53%
= =8 12 H :ﬁa(ﬂa&) JAL JAL 35,200 53%
= JAL JAL 35,200 53%
'l =%k fERES JAL JAL 35,700 52%
HILF JAL JAL 35,700 52%
12 =BKeE 12 = (H JAL JAL 39,500 42%
BREES Eﬁama&) JAL JAL 39,500 42%

JAL/JTA/JAC/RAC
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& 3
4 @ B | o BEE %
REO® | KM@ -
ER=F% BEH [ERGEH)| JAL JAL 39,400 41%
KER(EFD|  JAL JAL 39,400 33%
EHR%E [EERGEHE)| JAL JAL 39,400 41%
KR (EFD|  JAL JAL 39,400 33%
BE==R BE%  [EECHE)| JAL JAL 39,000 41%
ZR%  [HECHH)| JAL JAL 39,000 41%
EE=1t5 BEZE [ KREFFD| JAL JAL 38,600 32%
&R [ KRUFFD| JAL JAL 38,600 32%
BE=#A EEH [ERCGEHE)| JAL JAL 33,900 45%
RER(EFD|  JAL JAL 33,900 38%
BER [RECHH)| JAL JAL 33,900 45%
KER(EFD|  JAL JAL 33,900 38%
2=l EEH [ERCEH)| JAL JAL 29,600 46%
KER(EFD|  JAL JAL 29,600 45%
WiR%  [ERERCRE)| JAL JAL 29,600 46%
KR (RFD|  JAL JAL 29,600 45%
=R =" BREZE [ KREFFD| JAL JAL 29,600 42%
FaE [ KREFFD| JAL JAL 29,600 42%
2=/ B [EFECHE)|[ JAL JAL 29,500 50%
MR [RECHE)| JAL JAL 29,500 50%
wER=2 EM%E [PEGBE)| JTA [JTA/RAC] 31,200 31%
EE% |48 (R%) [JTA/RAC]  JTA 31,200 31%
ER=FH18 w|EE [FEEE;)| JTA JTA 34,900 31%
AIEH  [HEGRE)| JTA JTA 34,900 31%
Es e ZEAIFE [HEGHTR)|  JAL JAL 24,400 51%
=3 LI (FFm)|  JAL JAL 24,400 51%
Es e ] ZEAIFE [HEGHTR)|  JAL JAL 25,600 50%
FRE LIRFHFm)| JAL JAL 25,600 50%
A =M ZipFE |RECHE)| JAL JAL 32,700 48%
AR [RECHE)| JAL JAL 32,700 48%
i Al = RE Ll ZomAl% |EERCHE)| JAL JAL 36,000 49%
fEL%E [EERCHE)| JAL JAL 36,000 49%
LimAl=HE ZomAl% |RERCHE)| JAL JAL 34,700 52%
HEH [ERERCHA)| JAL JAL 34,700 52%
i A =l i A HECHE)| JAL JAL 39,600 46%
FALLFE Eﬁa(ﬂa&) JAL JAL 39,600 46%
JENTES A MBI [RECE JAL JAL 32,700 47%
RN JAL JAL 32,700 47%
B JI=FE 10 JBJI5E JAL JAL 36,000 48%
FE] LY JAL JAL 36,000 48%
BII=HE JENIES JAL JAL 34,700 51%
=% JAL JAL 34,700 51%
TENI=#211 HBJI5E JAL JAL 39,600 45%
[NIIE] JAL JAL 39,600 45%
SRR =/ SIBE S JAL JAL 32,700 46%
MRS JAL JAL 32,700 46%
IR =& 1L e JAL JAL 36,000 48%
FE] LI 5 JAL JAL 36,000 48%
fiEx=HE SIpE S JAL JAL 34,700 51%
=% JAL JAL 34,700 51%
gipg =421 FlES JAL JAL 39,600 44%
FALLFE JAL JAL 39,600 44%
HIE=/M2 HIhHE JAL JAL 32,700 46%
INRFE JAL JAL 32,700 46%
HIE=MRL HILF JAL JAL 36,000 47%
FE] Ll 5 = JAL JAL 36,000 47%
HL=HE HLR :ﬁa(ﬂa&) JAL JAL 34,700 50%
HEH [HRERCHAA)| JAL JAL 34,700 50%
HIL=10 Hh¥E [ERECHE)| JAL JAL 39,600 44%
WL [ERERCHEH)| JAL JAL 39,600 44%
B =/ R BEEER [HE(CHHE)| JAL JAL 26,800 50%
AN FE Eﬁama&) JAL JAL 26,800 50%
B =1L EREESE P JAL JAL 34,900 43%
fE] LLI 5 JAL JAL 34,900 43%
HEE=HE ek JAL JAL 33,700 46%
=% JAL JAL 33,700 46%
EEE=#0 e JAL JAL 38,400 39%
FALLFE JAL JAL 38,400 39%
EEE=dL M e JAL JAL 32,400 52%
LA JAL JAL 32,400 52%
HEE=X% EREESE JAL JAL 32,400 52%
K5 JAL JAL 32,400 52%
HEE=RI& EREESE JAL JAL 33,600 52%
RIGH JAL JAL 33,600 52%
BEE=FREA BREESE JAL JAL 33,600 51%
REARFE JAL JAL 33,600 51%
HE=25 BREESE JAL JAL 33,600 51%
EIEFE JAL JAL 33,600 51%
HE=ERS BEEF JAL JAL 34,400 51%
ERE JAL JAL 34,400 51%
EH=/M AR JAL JAL 25,600 51%
MRS JAL JAL 25,600 51%
EH=RLL EHE JAL JAL 28,800 52%
e Ll 5 JAL JAL 28,800 52%
EH=LE EHE JAL JAL 29,600 51%
N=ES JAL JAL 29,600 51%
- EEES BEHRR JAL JAL 31,200 52%
WIOFERHE JAL JAL 31,200 52%
EH=HE 55 JAL JAL 28,800 53%
JAL JAC 28,800 48%
HER P JAL JAL 28,800 53%
KR (RFD|  JAC JAL 28,800 48%
EH=RE EHAH¥  [EECGEHE)| JAL JAL 30,600 49%
EE% [HEECHHE)| JAL JAL 30,600 49%
EH=mi EHAH%  [EECGEHE)| JAL JAL 28,800 52%
% [EmGEE)| JAL JAL 28,800 52%

JAL/JTA/JAC/RAC
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4 @ Bi | o BE %
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EH=2H BHRR :ﬁa(ﬂa&) JAL JAL 29,600 52%
=M% [ER( JAL JAL 29,600 52%
BEHR=0L AR JAL JAL 29,600 52%
[NIIE JAL JAL 29,600 52%
BFEHRER=IdAM BEHRR JAL JAL 31,200 53%
E[&RE: JAL JAL 31,200 53%
EH=K» 5% JAL JAL 31,200 53%
JAL JAL 31,200 44%
K% JAL JAL 31,200 53%
JAL JAL 31,200 44%
EH=RB 5% JAL JAL 33,600 51%
JAL JAL 33,600 46%
RIE% JAL JAL 33,600 51%
JAL JAL 33,600 46%
BEH=EX 5% JAL JAL 32,400 51%
JAL JAL 32,400 46%
A% JAL JAL 32,400 51%
JAL JAL 32,400 46%
EH=215 5% JAL JAL 32,400 51%
JAL JAL 32,400 46%
=SS JAL JAL 32,400 51%
JAL JAL 32,400 46%
EH=ERS 55 JAL JAL 33,600 51%
JAL JAC 33,600 47%
BERESH JAL JAL 33,600 51%
JAC JAL 33,600 47%
ZIR=/# =IR¥% JAL JAL 25,600 50%
RN JAL JAL 25,600 50%
ZIR=REW ZIR%E JAL JAL 28,800 52%
e LY JAL JAL 28,800 52%
ZR=IE% =R ﬁa(ﬂﬂa) JAL JAL 29,600 51%
LEB% [HRFECHEH)| JAL JAL 29,600 51%
ZR=WOFE =R [EERCHEH)| JAL JAL 31,200 51%
WOFEF [RECHE)|  JAL JAL 31,200 51%
ZIR=HEZE =R% |EFECHHA)| JAL JAL 28,800 53%
£ Eﬁama&) JAL JAL 28,800 53%
ZR=#5 £ |= JAL JAL 30,100 49%
£ JAL JAL 30,100 49%
ZiR=@R £ JAL JAL 28,800 51%
£ JAL JAL 28,800 51%
ZiR==H £ JAL JAL 28,800 53%
£ JAL JAL 28,800 53%
ZiR=#1 £ JAL JAL 29,600 52%
£ JAL JAL 29,600 52%
ZIR=4hM £ JAL JAL 31,200 53%
* JAL JAL 31,200 53%
ZIR=X% £ JAL JAL 31,200 52%
£ JAL JAL 31,200 52%
ZiR=R& £ JAL JAL 33,600 51%
£ JAL JAL 33,600 51%
ZIR=RX £ JAL JAL 32,400 51%
£ JAL JAL 32,400 51%
ZiR=8& £ JAL JAL 32,400 51%
£ JAL JAL 32,400 51%
=ERS 3 JAL JAL 33,600 51%
* = JAL JAL 33,600 51%
PR =/M AR :ﬁa(ﬂa&) JAL JAL 24,800 47%
AR [RECHE)| JAL JAL 24,800 47%
A= PEZE [EERCHEH)| JAL JAL 25,600 53%
FELFE  [HEERCHE)| JAL JAL 25,600 53%
MHE=L5 PEFE [ERERCEH)| JAL JAL 27,200 51%
LEB% [HRFECHHEH)| JAL JAL 27,200 51%
#EA=LAFE BEEX [ERERCEH)| JAL JAL 29,600 50%
WOFEF [RECHE)|  JAL JAL 29,600 50%
MHE=HE BER [HECHEH)| JAL JAL 25,600 54%
KER(RFD|  JAL JAC 25,600 51%
HE HECHE)| JAL JAL 25,600 54%
KR (RFD|  JAC JAL 25,600 51%
ME=#5 TR [ERECHEH)| JAL JAL 25,600 53%
BEE Eﬁama&) JAL JAL 25,600 53%
MHE=E1 ThEH [ERECE JAL JAL 27,200 50%
= JAL JAL 27,200 50%
MHEH=F AR JAL JAL 27,200 51%
= JAL JAL 27,200 51%
FE=#L AR JAL JAL 28,800 49%
[NIIE JAL JAL 28,800 49%
BE=JLhM AR JAL JAL 29,600 52%
E[&RE: P JAL JAL 29,600 52%
BHE=X% AR :ﬁa(ﬂa&) JAL JAL 29,600 51%
KER(RFD|  JAL JAL 29,600 43%
X% [HECHH)| JAL JAL 29,600 51%
KER(RFD|  JAL JAL 29,600 43%
MEH=RI& BER [RECHH)| JAL JAL 31,200 51%
KER(RFD|  JAL JAL 31,200 47%
RIBEH [EEREH)]| JAL JAL 31,200 51%
KER(RFD|  JAL JAL 31,200 47%
FEH=REX BER [HECHH)| JAL JAL 31,200 49%
KER(RFD|  JAL JAL 31,200 45%
BAZ [EEREEH)]| JAL JAL 31,200 49%
KER(RFD|  JAL JAL 31,200 45%
MH==I& BER [RECHH)| JAL JAL 31,200 49%
KR (RFD|  JAL JAL 31,200 45%
HEHE [EECRHE)| JAL JAL 31,200 49%
KXER(RFD[  JAL JAL 31,200 45%
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MHE=ERS HERCHE)| JAL JAL 32,400 49%
KER(EFD|  JAL JAC 32,400 46%
HECHE)| JAL JAL 32,400 49%
KR (RFD|  JAC JAL 32,400 46%
Wiz =/hi HERCHE)| JAL JAL 23,700 41%
R CHE)|[ JAL JAL 23,700 41%
IRz =Rl HERCHE)| JAL JAL 24,800 49%
R CHE)| JAL JAL 24,800 49%
W =55 HECHE)| JAL JAL 27,100 45%
R CHE)|[ JAL JAL 27,100 45%
Wiz =1LOF4 R CHE)|[ JAL JAL 28,800 45%
R CHE)|[ JAL JAL 28,800 45%
WR=H=E HERCHE)| JAL JAL 27,100 45%
KER(EFD|  JAL JAC 27,100 47%
HECHE)|  JAL JAL 27,100 45%
KR (RFD|  JAC JAL 27,100 47%
=% R CHE)|[ JAL JAL 25,800 46%
ES: (2253) JAL JAL 25,800 46%
Wi =mn HHECF JAL JAL 24,800 48%
JAL JAL 24,800 48%
Wi ==% JAL JAL 25,600 48%
JAL JAL 25,600 48%
Wiz =#xL JAL JAL 25,600 49%
JAL JAL 25,600 49%
Wiz =4t v P JAL JAL 29,600 46%
wk=X% Eﬁa CHHE)| JAL JAL 28,800 46%
KER(EFD|  JAL JAL 28,800 44%
HECHE)|  JAL JAL 28,800 46%
KER(EFD|  JAL JAL 28,800 44%
W =Ki& HERCHE)| JAL JAL 31,200 45%
KER(RFD|  JAL JAL 31,200 46%
R CHE)|[ JAL JAL 31,200 45%
KR (EFD|  JAL JAL 31,200 46%
W =HEX HECHE)| JAL JAL 29,600 46%
KER(RFD|  JAL JAL 29,600 47%
HECHE)| JAL JAL 29,600 46%
KER(RFD|  JAL JAL 29,600 47%
W =gEi& HERCHE)| JAL JAL 29,600 46%
RER(RFD|  JAL JAL 29,600 47%
R CHE)|[ JAL JAL 29,600 46%
KER(RFD|  JAL JAL 29,600 47%
W =ERSE HERCHE)| JAL JAL 31,200 45%
KR (EFD|  JAL JAC 31,200 47%
HECHE)|[ JAL JAL 31,200 45%
KR (RFD|  JAC JAL 31,200 47%
e =HE KR (EFH|  JAL JAC 25,600 49%
KR (RFD| JAC JAL 25,600 49%
s =X KR (EFH|  JAL JAL 28,800 43%
KR (RFD|  JAL JAL 28,800 43%
i =Rig KR (EFH|  JAL JAL 31,200 45%
KR (RFD|  JAL JAL 31,200 45%
s =ReAR KR (EFH|  JAL JAL 29,600 45%
KR (RFD|  JAL JAL 29,600 45%
& ==& KR (EFH|  JAL JAL 31,200 43%
KR (RFD|  JAL JAL 31,200 43%
me=ERrRS KR (RFD|  JAL JAC 31,200 46%
KR (RFD|  JAC JAL 31,200 46%
FR=HE RBR (FFD ] JAL JAC 23,200 52%
KR (RFD|  JAC JAL 23,200 52%
FR=K RBR (FFD | JAL JAL 27,200 44%
KERRFD|  JAL JAL 27,200 44%
FR=RIE RBR (FFD | JAL JAL 29,600 46%
KERRFD|  JAL JAL 29,600 46%
FR=EEX RBR (FFD [ JAL JAL 28,800 45%
KERURFD|  JAL JAL 28,800 45%
FR=E4 KBR (FFD ] JAL JAL 28,800 45%
KR (RFD|  JAL JAL 28,800 45%
FR=ERS KBR (FFD ] JAL JAC 29,600 47%
KR (RFD|  JAC JAL 29,600 47%
Y=L S (313153) JAL JAL 24,200 53%
R (P JAL JAL 24,200 53%
IMA=TR5 JAL JAL 24,800 53%
JAL JAL 24,800 53%
MY =LA FE JAL JAL 27,800 51%
% JAL JAL 27,800 51%
IMNR=HE £ JAL JAL 25,200 53%
£ JAL JAL 25,200 53%
IMNA=TEES 3 JAL JAL 26,400 49%
£ JAL JAL 26,400 49%
INR=E £ JAL JAL 23,700 54%
£ JAL JAL 23,700 54%
IMNE=F £ JAL JAL 25,400 52%
£ JAL JAL 25,400 52%
MEY=HALL £ JAL JAL 25,600 52%
£ JAL JAL 25,600 52%
Y=L £ JAL JAL 29,500 50%
* JAL JAL 29,500 50%
INR=K5 £ JAL JAL 28,600 50%
£ JAL JAL 28,600 50%
MNE=RIE £ JAL JAL 31,200 49%
£ JAL JAL 31,200 49%
INR=FER £ JAL JAL 29,500 50%
£ JAL JAL 29,500 50%
INR=FIF £ JAL JAL 29,500 50%
3 Eﬁa (2253) JAL JAL 29,500 50%
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IMA=ERE AR [RECHE)| JAL JAL 31,200 49%
EREH [HE(CHH)| JAL JAL 31,200 49%
IMA=FTH IR [HEERE) | JTA [JTA/RAC| 36,000 38%
EE% |4 (R%) [JTA/RAC] JTA 36,000 38%
INR=F18 MAFE [REB(ERER) | JTA JTA 36,300 43%
AEFE  [FEGE)| JTA JTA 36,300 43%
==& FELZ  [REGRE)| JTA [JTA/RAC] 34,400 33%
EE% |4 (R%) [JTA/RAC]  JTA 34,400 33%
[EITEE=E] L [EGRE)| JTA JTA 37,000 35%
AEFE  [FEGRE)| JTA JTA 37,000 35%
BH==IF [k = JAL/JAC| JAC 26,300 39%
=0T = JAC |JAL/JAC| 26,300 39%
BEXE=5HK |EEXEHR JAC JAC 18,700 30%
5% JAC JAC 18,700 30%
BERE=HKRA| EEXEH JAC JAC 16,000 46%
ok RERSE JAC JAC 16,000 46%
BT =FFH R GREH X JAL/JTA] JAL 37,200 48%
EHE JAL _[JAL/JTA] 37,200 48%
S (H) ==R [*EHE)F JAL/JTA] JAL 37,200 47%
=] JAL _|JAL/JTA[ 37,200 47%
SPAB(IRER) =FAE [h#E GRER) [€E JAL/JTA] JAL 36,000 45%
TR [EFECHE)| JAL [JAL/JTA] 36,000 45%
SPB(IRER) = LT 048 (RER) %[ BGR CRE) [JAL/JTA[  JAL 36,000 39%
Wifiz%  [RECRE)| JAL [JAL/JTA[ 36,000 39%
ARBONE) =Ile MBI R  EE JTA JAL 38,900 45%
=3 1B JAL JTA 38,900 45%
SPHB(GIRER) =/ [R48 (IRER) [ BGR CRIE) [JAL/JTA[  JAL 34,900 44%
NAFE  [ERFECHE)| JAL [JAL/JTA] 34,900 44%
HRAH =5 HE@B R # JTA [JAL/JAC] 25,200 51%
= = JAL/JAC| JTA 25,200 51%
SRREE(ARER) =L PEGRERIR] B JTA JAC 23,500 51%
[ANTIES &2 JAC JTA 23,500 51%
HR(PHE) =#XXS|RRCHA)%| ERS JAL JAC 41,700 33%
KERURFD|  JAL JAL 41,700 29%
BEXEHR | BRE JAC JAL 41,700 33%
KERURFD|  JAL JAL 41,700 29%
BR(PH=ERBS|ARHA)%| ERS JAL JAC 41,800 34%
BEKE | JAL JAC 41,800 25%
ERER ERE JAC JAL 41,800 34%
BEKE | JAC JAL 41,800 25%
RR(PH =#zB|ZARCIA)%| ERS JAL JAC 42,800 35%
BEKE | JAL JAC 43,600 27%
[EFAEES ERE JAC JAL 42,800 35%
BEKE | JAC JAL 43,600 27%
HRHE) =FkRH|ERCIA)%| ERS JAL JAC 44,600 35%
HKRERE | ERS JAC JAL 44,600 35%
BEKE | JAC JAL 44,600 29%
RROPHE)=5# AR (PR %] ERS JAL JAC 45,000 36%
Bim% BRE JAC JAL 45,000 36%
BEKE | JAC JAL 44,900 32%
KR (D) =BERS[ AR (FHE| BERS JAC JAC 36,000 28%
BEEXER | BERS JAC JAC 36,000 28%
KR () =ERB| KR (B E|_ERS JAC JAC 37,100 27%
BEKRE | JAL JAC 37,100 19%
EREH ERE JAC JAC 37,100 27%
BEKE | JAC JAL 37,100 19%
KB (D) =2 8| KR (R % ERS JAC JAC 38,100 29%
BEKE | JAL JAC 39,000 21%
[EFAEES ERE JAC JAC 38,100 29%
BEKE | JAC JAL 39,000 21%
KR () =hk RE | KBR R | ER JAC JAC 39,600 30%
HXBEEHHE | BRE JAC JAC 39,600 30%
KRB =5# [KR(FFH%| ERS JAC JAC 39,900 31%
5% BRE JAC JAC 39,900 31%
BR=BEXS fERES BERS JAC JAC 29,300 30%
BEXEH | BRE JAC JAC 29,300 30%
ER=E/5 [EEES ERS JAC JAC 30,600 29%
BEKE | JAC JAC 30,600 26%
EREH ERE JAC JAC 30,600 29%
BEKE | JAC JAC 30,600 26%
ER=z5 [EEES ERS JAC JAC 30,700 32%
BEKE | JAC JAC 30,700 32%
[FFAEES ERE JAC JAC 30,700 32%
BEKE | JAC JAC 30,700 32%
128 =k RED [ERES ERE JAC JAC 32,200 33%
HKBREH | EBRE JAC JAC 32,200 33%
BEKE | JAC JAC 32,200 34%
ER=5#H B BERS JAC JAC 32,600 34%
B ERE JAC JAC 32,600 34%
HEXE [ JAC JAC 32,600 37%
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